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(a) (i) If a country has a current account deficit of

$60 billion and a capital account surplus of
$40 billion, what is the net change in its
official reserve assets?

(i) What is the main problem economists face in
measuring the expected real interest rate?

(4)

(b) What do you mean by open market operations?
How does the central bank use open market
operations to control the money supply in the
economy? (4)
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« I=160
AL 2 =‘200
« TR = 100

(a) Calculate the equilibrium levels of income

and expenditure multiplier

(b) How much of government purchasing

should be increased if the government

wants to increase the equilibrium income -

level to 1650.

(c) How much of transfer payment (TR)
should be increased to achieve equilibrium

income level of 1650. (6)

(3) (i) GDP svewiforna = wRww 3Rk g3 =
37

(i) af At THa e IE T A B WY
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(¢) (i) Within the classical model, explain the effect
of a decrease in the marginal income tax rate
on output, employment and price level with a
suitable diagram. (7)

(ii) Given the following information, compute the
values of monetary and fiscal policy

multipliers (3)
+ Consumption C =100 + .75yd
 Investment I =240 - 10i

e "Tax rate s b= 20

. Demand for money L = .2y — 5i

() (i) R Rl 3w =1 oo @ AT $60 Rfva sk
I @ sftd $40 R 2, @ swEr
sftrRe st s ¥ o wRad 7 27

(i) e arafs =e @ T ¥ iR 2
W T GHE war B 7

(¥) G TR AT ¥ A9 T w37 sl ¥
T A A o o @ fw A9 35 @ T
e H I R T 27
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o« T W W | t=.20
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2. (a) Why are goods and services counted in GDP at
market value? Explain any two problems in using

market value to measure production. (4)

(b) (i) Consider a bond that promises to pay %100 in
one year. What is the price of the bond today

if the interest rate is 8%?

(ii) 'Explain the relationship between the price of
the bond and the interest rate. (4)
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What is the definition and formula of GDP

deflator?

What statistic would you need to check before
celebration if the nominal GDP doubled
overnight? Why? (4)

If the money supply in an economy is ¥15
trillion and the nominal GDP is %30 trillion,
what is the velocity of money according to

the quantity theory of money?

What factors determine the velocity of money

“in the classical system? (4)

How does an increase in government spending
affect the position of the IS curve? Explain

using a suitable diagram. (4)
Suppose that in an economy :

« C=200+08Yd

. t= .25y
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(c) (i) Use suitable diagrams to explain how an
increase in the public’s taste towards less
leisure would affect the real wages, output

and employment in the classical model.

(5)

(ii) Using the IS-LM framework, show the effect
of investment subsidy on the level of
investment, equilibrium income level and

interest rate. (5)
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3. (a) (i) If an investor buys a bond with a nominal

interest rate of 8% and sells it after one
year when the inflation rate is 6%, what
does the investor earn the real interest

rate?

(i) How does inflation affect the real interest

rate and purchasing power of money? (4)

(b) What is the primary/function of money as a

medium of exchangé? In what ways does money

serve as a store of value? 4)
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If a country’s investment is $400 billion, its
government saving is -$100 billion, and its
current account is $50 billion, what is its

private saving?

If a country’s exports of goods and services
are $200 billion, its imports of goods and
services are $180 billion, its net income from
abroad is $10 billion, and its net transfers
from abroad are -$5 billion, what is its current

account balance? 4)

Suppose the ratio of currency to checkable
deposits is 0.25 and the reserve ratio is 0.20,

calculate the value of money multiplier.

If the reserve ratio is increased to 0.40, what
will be the new value of the multiplier? Give
reasons for the change in the value of the

multiplier. (4)

(c) Using the IS-LM model, derive the aggregate

demand curve. What will be the effect on the

aggregate demand curve if the nominal money

supply is increased? (10)

b Gh e Y
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(¢) (i) Given the following information :

(%)

(ii)

Consumption C =80 + .75YD

Investment I1=200
Government Expenditure G = 120

Tax t=020y

(a) Calculate budget surplus.

(b) What will be the effect on the budget

surplus when the tax rate increases from
0.20 to 0.30? (4)

Under the conditions of the liquidity trap,

fiscal policy will be perfectly effective

because there is no crowding-out effect.

Explain this statement using a suitable

diagram. ; (6)

(i) afR =5 FEww 8% ot Afw = & 9>

& 9T @ledt @ 3K W UE 9§ B 9e q9ar
? Wa ey ® 6% B, A Fave e
G o F T Ao e 27

i 2 8



1297

8

(ii) gﬁf@ﬁﬁﬁﬁ;ﬁmmﬂaﬂtyraﬁmmﬁﬂ

F B wwifad S 27

(@) ffwma & wom @ W X 7@ = walE w0
7 We W YER T B VSR & EW A wE w

87

® ()

Frafafaa sFEm & w2

o JONAT C = 80 + .75YD
« fam I=200
o TWEN TG G=120

. 3T t=. 20y

(%) wwie ftEw & oA W)

(@) T @ W 0.20 ¥ 0.30 T WA W Toic
FfEY o @ yWE g ?

T S @ WEl @ agd, g Ae 98
TE A AW BN i T i IS ST
1 ywE 78 B #1 Sugad R @ SwEm
T T HAT d R W

1297 13

(a) Find the eqﬁation of IS curve.

(b) Draw IS curve using the above IS

equation.

(c) Examine this IS curve carefully and give

a reason for its shape. ! (6)

(3) (i) T amed ¥ = B & @ &
qehel We| IAE A AET

« i IR =g (C) 10130
. SRR FAw 1694
. g e : 477
- T Faw -35
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« HORE FATH 480
- Fat| 1831
. A 2539
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and services
+ Corporate profits
» Exports

¢ Imports

2883

480

1831

2539

(ii) Explain why Transfer Payments are not

included in the calculation of GDP.

4

(b) Explain the process of the money multiplier,

assuming people hold only checkable deposits and

do not want to hold any currency.

4)

(¢) (i) Why do changes in government purchases of

goods and services have a larger effect on

1
equilibrium income level than equal-sized

changes in government transfer payments?

(i) For an economy it is given that :-

« C=200+08YD

« I=100
. G=l60l
« TR.= 50
T o

(4)
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4. (a) Explain the different components of the current
account of the balance of payments. (4)

(b) Explain how demand for money and supply
 determine the equilibrium interest rate when
currency is the only money in the economy. Show
the effect of an increase in nominal income on the
equilibrium interest rate. Explain with a suitable
diagram. : (4)

(c) (i) How does proportional Income Tax act as an
automatic stabiliser responding to economic
shocks or fluctuation? (4)

(i) (a) Assume the following IS-LM model.

C =100 + .75 YD

«1=1200-10i
« G =150

« t = .20y
-L¥.4y—2i
© M = 800
sP=2

P.T.O.
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(a) Calculate the equilibrium level of income

and interest rate.

(b) How much investment and income will
be crowded out if the government
increases its purchases by 100 and the

money supply is kept constant? (6)
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* G =150
st = .20y

* L = 4y-2i
* M = 800
*P=2

(F) 3@ IR =G R D G WA TR
Eadl
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5. (a) (i) From the following information, calculate GDP

using the expenditure method

* Personal consumption expenditure (C) 10130
* Business fixed investment 1694
* Residential investment 477
* Inventory investment =35

* Government purchasing of goods

P10,



